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The figures ‘in the margin indicate’ full marks
~for the questions

Answer either in English or in Assamese

1. Answer the following/Fill in the blanks/Write

True or False : 1x10=10
_Wﬁﬂmﬁahﬁmmﬁrﬁﬁqwmﬁﬂ
a7 for3

(a)  “Measurement is the assignment of
numerals to objects or events according
to rules.” Who gave this definition?
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(2 )

(b) “Educational achievement tests are
designed to measure knowledge,
understanding and the skills in specific
subject or group of subjects.” Who gave
this definition?

“ o1 Rewm R a1 oofde REwe
RrFR e, @14 S TPl AR 0T 84S
<1 S R skl s i I
21”7 @ TS P i PRI 2

(c) Write any one  characteristic  of
evaluation.

‘Wﬁ@mﬁﬁhﬁﬁﬁmu_

(d) Find out the mean from the following
scores : ; |

worq JIPPTIRA o[ o1 Tfelear:
20, 30, 35, 40, 25, 30, 20
(e) Physical measurement is objective.

( True or False )
oI =ifel <o |

(W7 =97 )

() Range is one of the measures of central
tendency.

( True or False )
R 2’9 (I AT iRy (w3 |
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(3 )

(g) Reliability is always situation specific.
( True or False )

RSwsrer s «RER e
(W% (7597 )

(h) The first stép in constructing a test is
«to - -the test. ; by [
RILEY (Fﬂl in'the" blank)
LSk ﬂﬁm ’R’&RN R CaR HOWE
BEAIRE
( ?ﬂﬁi ?ﬁ 95% 0 )

(1) ,Physic_é\l measurement is more accurate
than measurement.
( Fill in the blank )

ﬁf‘?vfﬁm ﬁmmwﬁasm\—sm
| (mﬁﬁi‘i'vﬁqw)

(i) Achievement tests are broadly classified
as standardized and test.

( Fill in the blank )
w@mmﬂmﬁﬁmwm
(<130 9% o7 1 )
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(4)

2. Answer the folloWing briefly . 2x5=10
were AT oy Ted e
(a) Write any two characteristics of

measurement.

AR e o1 3P f

(b)

Write two differences between

- ~measurement and evaluation.

ﬁﬁﬂﬂ“W?TWNWﬁmﬁﬁiﬁbmﬁﬂﬁ*ﬂ|

Mention two d1sadvantages of ob_]ectlve-

type test.

T SR o1 SRer S w4y |

(d) What is error in measurement?'

- CRRER R

(e) Write the formula to calculate median
from grouped data.
ﬂﬂ%“ﬁﬁ%V%ﬂwmmiﬁﬁvamfpmﬁﬁ#ﬂn

3. Answer any four of the following : Sx4=20

@S frIcRa R e v Tew f

() Write briefly five functions of
educational measurement,
e AR o1 o Bt v

(b) Write briefly on validity of a test.
«ﬁh@ﬁ%$mizmmvwﬁaﬁm§¢fﬁmw
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(5)

(c) ‘Write a note on essay-type teacher-
made test.

ﬁwﬁﬁ'—wﬁmﬁmaﬁcﬁm
feram

(d) Discuss about formative and summative
~ evaluation.

NS ST W@?ﬁ m ﬁm AT
1
(e) Write brieﬂ3; on:cur.nula_t_iv‘e' rééord card.

T S ofa oIk ST P

(f) = Write the advantages of measures. of
central tendency.

@"@ﬁﬁﬁmﬂﬁmﬁaﬁﬁwﬁw

4. (a) What is evaluation? Dlscuss the basic
principles of evaluation. . . 4+6=10

Wﬁ?mcﬁmmw
41 |

Or / S%{l

(b) What are the different steps of test
construction? Write five differences

between general test and standardized
test. ‘ 5+5=10

o o Rfen womz & e s
SErH wE AfeNATe SR Aere @ 100!
o2l o |

- 20A7134 0 ( Turn Over)



5. (@)

(b)

20A/134

(6 )

What is objective-type test? Discuss the
uses of educational achievement test in
educational evaluation. 5+5=10

iy worm R0 Freee ERE CRaS
s RAROR SO SolcaIfel e
el

Or / 94T

What is new trend in evaluation?
Discuss about grading system. ' 10
e wgn a1 7 afR o HACE
e 41 | ; ' ’
What is frequency polygon? Draw a |
polygon from the following table : 2+8=10
R I2TE < 7 T e A TG
951§ 90 :
CI | f
(9] <FTI) (F[1en)
55-59
50-54
45-49
40-44
35-39
30-34
25-29 112
20-24
15-19
10-14
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(7))

Or / ©<T

(b) Find out the mean by short method
from the following table : 10

o IR il Y TR o B -

cI f
(1% &=9E) - (ARE)

- 90-94
85-89
80-84
75-79

 70-74
65-69
60-64
55-59
50-54
45-49
40-44

LV NEaN

N W DO

N =66
7. (a) What is median? Find out the median
from the following data : 3+7=10
e 6 7 @R OUF /1 1 fef 0
CI f
(17 STTIT) GRS
55-59
50-54
45-49
40-44
35-39
30-34
25-29
20-24
15-19
10-14
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(8)

Or./ 931

(b) Calculate the standard dev1at10n from
the following table :

WWWWW%&@

CI

(N <r54reT)

20A—25*/134

90-94
85-89
80-84
75-79
70-74

- 65-69

60-64

55-59

.50-54
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